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Geometry Notes: 1-4; Angle Measure
Name V\LQL/\ Date Q/ZZ

1 degree =—3—é~6th of a turn of a circle.
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The ray at the right could be named “ray EF”, or
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In the drawing directly above, A Q@  and AP are (‘)Q‘Qw@i Lo (S
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Label the parts of the angle on the left. This angle could be named:
LB
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There are Eow’ angles in the diagram to the right.
Could you name either of them £E ? Why or why not?
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Points A, D, and E are on ‘H’w {?ﬂf} (é’

Which points(s) are in the interior of ZD? {4yt C,;L,%@

Which points(s) are on the exterior of /D ? iiaﬁ t F

(***See Page 30 example 1 for more practice!)
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A geometric tool used to measure angles is a F\FDC“@ “&(\&(’“L@ . . Measure the

following angles: Remember to use the scale that begins with a zero at the angle’s terminal
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An angle measuring greater than 90° is a(n) obtvse angle,asin « X above.
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An angle measuring less than 90° is a(n) _owci{¢_angle, asin £} above.

An angle measuring exactly 90° is a(n) f‘g\a;w% angle, asin £ >_< above. Mark this
angle with the symbol that means the angle measure = 90° (that the angle is a right angle).
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Write a congruency statement for the numbered angles, 1 2

and mark them congruent on the diagram.
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Example:

1. Find m Z CBD.

Z\Q ™ - ~
B-i\fg”: Ll*[“fz.’ o H<7)"i

- 34 " 3X 50 = Q8- 2 °
7 tz
EEra
Angle Bisector: A {Cuiy that divides an angle into éu} o C@ﬂg(@@,fangles.
Example:

If YW bisects £ XYZ, m £ XYW= 4a-10, m £ WYZ= 2a+12 , then find “a” and m £ XYZ.
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